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SECOND YEAR HIGHER SECO\D.{RY EXANIINATION, MARCH 2O2I

Part - III
CHEI\{ISTRY

Maximum : 60 Scores

Time :2 Hours

Cool-off time :20 Minutes

General Instructions to Cundidutes :
o There is a 'Cool-otTtirne' of 20 minutes in addition to the writing time.

o Use the 'Cool-off time' to get familiar with questions and to plan your answers.

o Read questions carefully before answering.

o Read the instructions carefully.
o Calculations, figures and graphs should be shown in the answer sheet itselL
o Malayalam version of the questions is also provided.

. Give equations u,herever necessary.

o Electronic devices e.\cept non-prograrnrnable calculators are not allowed in the

Examination Hall.
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Answer the following questions from I to 40 upto a maximum score of 60. '

Answerquestionsfromrtorl.Eachcarries2scores. 
(11 x 2=22)

l ' ('L) which of the forowing is an anisotropic sorid ?

(A) NaC/ 1n) Glass
(C) Rubber (D) plastic

(1)(ii) Glass is called pseudo solid. Give reason. (l)

2. An element has cubic close packed structure.

(i) what is the co-ordination number of each atom ? (1)(ii) Give the totar number of voids in N mor of it. (r)

3' Mixture of two liquids A and B form an ideal solution. Draw the 
'apour pressure-

composition curve for this solution.

4: (i) The electrolye used in Lead-storage battery
(ii) Give one example for a primary cell.

l' what is a zero order reaction ? Give the unit of rate constant for zero order reaction.

6' - classifu forowing as homogeneous and heterogeneous catarysis.

A. 2so2(s) + ozG) No(g) 
> zsor(s)

B. zsor(s) + oz(g) vror (s) 
, zSor(s)

7' (i) which of the following ore can be concentrated by froth floatation method ?(A) Bauxite (B) Siderite
(C) Cuprite (D) Zinc blende

(ii) zinc andMercury are low boiling liquids. Name the technique used to refine these
metals.
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I a3orc8 40 oLooco'3g colca5onr.6ao-.'Loacor<rjl e.lre1eo3a,60 ao3cd rorgcololao3".

I ayorc8 1l otoocogBo coloBJonodaer-2 copcd o-[loro.

l. (i) GlacDaooBuola cnlrecolo alfinlaolo-n ajooloJl} 
",6o)cem- 

?

(11 x 2 =22)

(A) NaC/

(C) oqqd

(ii) rocphn ofigorlaccu3gg

dl<o1 .6u3to)3o.
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(B) Rco.u-

(Dr dc#d
( i i ) gccd' 4.,-r seu oon(6 .,61cm o1 cooH slcml. of)crD 3 5rn- ec o5IT)o?

O O3 O 3o A,C,rrOfl Cn" c c p'rel S m c'rg em" g ggror".

( i ) 5'J cGt?;l GrOBoIol o o3ao)]o QoJ <ruoG0ocg6 oDooj J .,6; lrorcoc em- ?

(ii) N caccrd agetaonnloE alcsrnlcrn oocollDo uolcnJm)CIelarBglos "S't?p" "6;(ot 
?

A, B "gcnfl (Bcolcu@Rg;os a1q91<or" 6JoJ orgeduo elccocnl Gr96lrr". Pctnooe
enrc.gatig,orolor$ cacc6 rel(moroilmmSmlolgSgp or5oiloorcrn. cru;"-il.g[@o;(m tulc.'n-

oros?]6,.

(l)
(1)

(l)
(l)

)

3.

4.

5.

6.

(i) oercr.D"egllccodenrcgolo;loS go:ccocoloo3cm gGlc(ecooelB 

-- 

cDe,lcml. (l)

(ii) oo("raol oml$lcriao] Pocoo@6mo o$)eJcrrle. (1)

o6.)cnDca"n- :r,ilcoc ocdnp6 ocfiu (olordorolmo ? ra'o<o'Jloa! crjloaer- mroloco+,o,orloofl

co;errt'lq .,Oglc)le.

olJolos mdalo;ld€ol(Doloco .r0J6coae pto8c(oJo6rno, elrmc<ooe goScLoJo5lro

oS)fiD- {t')t?c Cr1 O1 asr;a.

A. 2Sorrig) - o^(g) No(g) 
> 2so3(g)

B. zsor(e) + o:(g) 
v'ot (s) 

, zSor(e)

(i) tocrrioleergcm onor1oleg168 crllcmgo dorm (.,rtelao otdl mrcgcnslTo oorQlcmof
oSIO(O)(m"6,5)5113(110.)]6

(A) cenrca?rom-:S (B) m.inooooS

(C) agooc":S (D) m-floiqgof,no" (1)

cetcclooRgco) m>1B,}o oa6€o]o1ao3" cosrarIle,olaerScm

7.

3

(1)
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8.

9.

(i) Name the important Oxo acid of Nitrogen.
(ii) Name the method used for the'manufacture of this acid.

Give reason for the follorving :

(i) PC/, fumes in moist air.

(ii) PC/, is highly reactive.

(l)

(1)

(l)

(1)

(l)

(r)

10. (i) Write the IUpAC name ofKr[Zn(OH)a]

(ii) Metal present in chlorophyll is

I l. Identify the main ilroduct in the following reactions :

(i) cH, - cH, _ oH PC/r,

i' '(ii) cH, - CH = cH2 i!_)
(1)

(l)

Questions 12-29 carries 3 scores each. (18x3=54)

Y "'l:e 
unit cell' calculate the number of particles per unit cell in Body centered cubeI and Face centered cube. - r 

-

/
l3J/ (i) what type of magnetic substances are used to make permanent magnets ? (r)(ii) Draw the schematic alignment of magnetic moments in ferromagnetic and

./ ferrimagnetic substances.

,/ (2)

I( State Henry's Law. Give two applications of it.

/
/

15' g Danier ce, is represented as zn(s)/znf{rrttcufjry/cu(s). write Nernst equarion
for Daniel ceil. 

(l)(ii) The conductivity of 0.2M solution of Kc/ at 29gK is 0.024g scm-r. calculate itsmolar conductivity 
e)
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8. (i) oom(seoo! loroilcn6qs acctrc oOmflori"0totc6m-?

( i i ) ot 5c ot mt coil a, a cofl p e cD ru1 rut- cril 6 m1 aoScm t(ar co'1ol (r6tOro em" ?

g. @rcto5lTo oJlcooacoole' :

(i) PC/, poddol@ orcccupll<t6 clr]&aoi(mj'

(ii) PC/s cri teloorcadl el<or aSsyornf, cD6ID-'

10. (i) IUPAC o)coo o6el<ole Kr[Zn(OH)al

(ii) r,ooltooororloS <oosamlo'glg Gelcooo _-_co5m-'

11. ol}ojos orrrflolooScm ocm.: 1.,-tol6ororcnamg[loet olol} grrflgcm" ".8(ui?

PC/1
(i) cH: - cHz - oH -----j+

(ii) cH: - cH: cH2-J!-+

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

12 ayoro8 29 ruoocolg ca:co5euncrdei-3 ccpcd ollrol"' (lEx3=54)

12. oo)16rr,19 omloE ooo.lD.m-crrl6qJleol&. Grocro6ca'1cr5la5ro e'3enJlaio')]5rrn8 orn'lo8'

o3ar ca,lcrdle5<o a,3enjls corlernlg omrn6 'ocrnlooiloel 
BCcoCCrrflcetcsul" oocGIOo

ro@86'uglos "O5#" 
e5m €o c€ole'j'

13. (i) mrclooccroro crr16aa1aoco6 "6<rfO6o 
&Cfi6fle{uql}@6trC5m-g"'rccoccrilaerSm<ui? 

(l)

(ii) ooccoc accn-mg1a,-, o.,col acuicnglai orcgldogps acalcngla'" oacoofll&glos

ga,dlo,oem'o-i'lioro3.,.lo oJogle' Q')

14. oooofllcoSos cn'lcorao lorcg;collaerla. oro<ufloo! o5IE!- C(alccolco'le gotccolcooncr?

o{)elt6)]6''

15. (i) o.pccrflccucfl oml$loctfl l"ro1crfloJla'(05lDo

Q o, ooA omenE g3- mloo't celo .loel(o]&'

Zi(syZni{q1f;,lc" f"i,7^*"', lcu(r) o0(mc6m-.

0.2 M KC/ ercocrflolSos 4.rcel&tol 298K

c a cgct0 olc el &(o a,enePl dlaola''

5

(1)

oo! 0.0248 Scm-l ol96rri' P<onoca
(2)

P.T.O.

(ii)
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16r/Variation of molar conductivity (I,r) versus concentration (\E) for a strong and weak

J electrolytes are given below : .r'

o

/^

A
(i)

(ii)

(iit)

(1)

(l)

(1)

Identifu I and II as strong and weak electrolyes.

What does ).fi indicate ?

Suggest a method to determine i.fi for the electrolyte II.

l,rdrn. vapour

respectively.

B is 0.4.

pressure o1- pure liquids A and B are 400 rnm and 600 mm of Hg

Calculate vapour pressure of the solution in which mole fraction of
(2)

(ii) Which of the following is true for an ideal solution ?

(A) AHmix > 0 (B)- AH.,* = 0

(c) avmix > 0 (D) aHmix < 0

lE. The integrated rate equation for a first order reaction is

2.303. [R]oK: t log 
[R]

(i) What is half life period ?

(ii) Derive an expression for the half life period of a first order reaction. 
1

l9_.(i) Write any two characteristics of Chemisorption.

Why are finely powdered substances more effective adsorbents than

crystalline form ?

Differentiate between the following :

(i) Calcination and Roasting.

(ii) Pig iron and Wrought iron.

(iii) Mineral and Ore.

(1)

(1)

(2)

(z',)

their

(1)

--+rtE

sY-225



16. Be-rlerercacDcnlojlos oile3, aJoooRD perctqcooergloofcoSo ollo5o allslp
pelc[qcooeLglooflo;" .l:31.ro)gcr)]o!@lgJgg (\D cocgcd orcero(Dao)Jos (I*)
ot5<oil on mo ac srD'l ooloD (cD c o-c" rl lol o s cl 6 oro..r1 o1 €oJ(mJ :

o

/*

(i) I, II.,6crn1o ririlol4olorga (oJlo5o a;s1oor<irr-, oJlo5o a;oeroroo-i;

(ii) )"fi .6cro'llom @l"il$oogcmS ?

(iii) II "gcm eerc(ecooagloo$ ).fi aene3"ilsleo3cm eiog tdlrofl cnldcqcolooge.

A
(l)

(1)

(1)

17. (i) A, B "6cnfl (Bcora@Rglos c/olelcorcruod*lgg en:c",u-,':adgo aoroc(&oo
400 mm, 600 mm G'O6m: @orao;os alqgiko<imiloE B aolos cacod relcm<or

0.4 re'qoemeiloS c'ro accorcrilco;os oaconDo 6ruccrSadQo ecreJ.rilsleo3a. (Z)
(ii) 'rJolos orcrri<olaer3cmo'rloE orqo6uoe-rccorcnlooo oDo6Drfl.r.i'lgicoolotccorroi"6ru.i?

(A) AHmi* > 0

(c) avmix > 0

(B) AH.,*:0
(D) AHmix < 0 (1)

18. GoDco eicdood ocml1"-tot6olcrcnororloo! ruaoce.r1o crjlooer-mtooJc&Jo crocrn"

2.303. [R]o
K = --- tog 

[n]
(i) oot0raucorSmr-"grmcoeto,o-? (I)
(ii) ECDco oc6or:6 ocm;iorordoomorolioo! roodra.r.lcorgm;- 6,5rD6oc€oJcm

oUooJc€,Jo cridel.rcoemc ooJeJ6. (2)

19. (i) ocm) anoorccocosjdlTcoroloap 
"6o<oro+,1Ello 

@6t'te"oDoJlcso",si<ola06.,61v3<orgo. (2)
(ii) rsD(o)l mga,gocoi oileel4llqgg o:ocdorooncd oro<r.flcuocosi&oocm cnleLojlo8

a}s3to'roE o-oel(olBacoemcm".,.rootcod ecoemoaoor-? (l)

20. oJJor os <u)crnloloer3cmo; o'rm1 eLlgp orJ{rrrJcnuo c(oal oHs]orolo, :

(i) e,coSmicmovo0,cocgpl"oo"

(ii) 
"Jloriorgcotffi , cocg"crgcolen8

(iii) urc<o3, onorld

+16
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//
2_Jfu{otassium dichromate is a very useful oxidizing agent.

(i) Name the ore of Potassium dichromate. (l)
(ii) Explain the preparation of Potassium dichromate from Sodium chromate. (2)

22,

?1.

Account for the following :

A. Zr and Hf have identical radii.

B. Transition metals are very good catalysts.

Calculate the spin only magnetic moment of M i"i, ion (Z = 27).

(l)
(1)

(1)

fxplain following reactions :

(i) Riemer-Tiemanreaction.

(ii) Williamson'ssynthesis.

(ii)

How are the following conversions carried out ?

A. Propene to Propan-2-ol.

B. Ethanal to Ethanol.

Name the enzyme which converts glucose to ethanol.

The test to distinguish Propanal and Propanone is

(2)

(1)

@(i) (A) Tollens'test

(C) Hinsberg test

(B) Lucas test

(D) Bromine-Water test (1)

(1)

(1)

@ (i)

(ii) Which is more reactive towards nucleophilic addition, CH3CHO or CuH, - CHO ?

Give reason. (2)

26. Identiff the products and name the reactions.

(i) HCHOl*#,
'-I

(ii)ts cH jcro dil'NaoH,

27, (D Classify the following into monosaccharides and disaccharides.

Ribose, Fructose, Maltose, Sucrose.

(ii) How is starch different from glycogen ?

(iii) Name the two hormones rnhich work together to regulate glucose level in the

bodY.

(1)

(1)

(1)

sY-225



a 1. oo-., sSCCrUJo O'A!c(6,cc28-aol acR;racolcocorl go_rcccuco1eo3cm3.
( i ) oolc5cmJJo ooctDG(acc a 

91 
ooJ cn col i",g<clceml

(ii) cmrccrolc'ro cloccaglo8 orlon;, oo-JolcouJo oCIn,)c[eccai
oflconoc.oetSa.

(i) or]olos moEaloioleolcm ocmro-rolordomrcno cnsoroJa oo(.,Jac@ocojJo ?A. o1"_rcgpoE -> o(orcorccf._2-acu}
B. .r$LnCnCOS -+ ,rgLCCCnCOd

(ii) gJeoocmrlocn .,.0)lnemcc6 G'rgao1 acBJCm Ocm-rccnrl 
",63rocem-?

(i) HCHO -99r xqE"
A

(ii) CHjCHo dil'NaoH,

(t)
crildmleer3cmo.i

(2)

ll. (i) 6co6rro oJluooacao3a :

A. Zr, Hf 
"gcrrr1.ra0)los e'gcgca1*, orgoo.no6 0TJ6GBU0. <Or]ajaceml (l)B. ffuo(&06rD aSeLao'nca mg Qo8ct,-roaacor 10.ror60ro1eo3cm3. (1)

(ii) M,},l oncco;cerrriero! caorer or(66rn ocernjo crg"etSdemo 66TD€ocdoJe(z:27). 
(l)

23. oJloJoS rorrnloleerScmol ojlcorjlaolaoSa :

(i) cfla6-dlaco0 to-roldorocno
(ii) oJler5"mtenE fi)oGgoe6rro.

24.

(2)

(r)

25' (i) o(ojcoJ(ncelJo o(o-IeoJGocfiDlc ro>1o1gcJlcorcod g.:co;ccnloergcm ersS"Oolcem-?(A) oscgo8cru"ossll (B) er3eocmiosg$
(c) orilcrEmr"eren:.ori osgj (D) ca,ca1o6.r5a os$ll (I)(ii) mg$lleaoc"nlellao" onnol,',srod g.,:o-r6erclmo'/ol6E .6arrlmcom- 6eilccucca.laarr
a}sgorc8 CH,CHO, CuH, - CHO. 6oo5rDo or56ro2c€c,J6. (Z)

;16' olJolos oacsJoroflolaer;cm occni Loror6ccro"rmeungtoa goSgcmo oilo19go1or,a. po
OC m-: 1".r Ol 6 610-, O?6R glO S C",_r O'.,g 9l (rD lA.

(l)

(1)

7. (i) aJJoios ocrrrlolooJcmolo@ coccdlDcm)cdooooal;ed, ooc\DoDc66,,ooocur3oc6

"61 
cm" or 6 gfl e, o1 eerga,.

oooc6rucm)",(CICIcgcou-,acoac5cmt-,oulc(6)cou-

(ii) ooso€ocsmg" ggcrdg]o romler]@ orJroJccruo.,6lmrcem-? [i](iii) 6'ffr44 1o-roL6ororis[ ooroo'rojloer gSceocmrloo! @agoi lodloolao,cm
ccrocdcacemlecd.6oror$co ? (l)

Y-225
P.T.O.



28. Write the monomeric units and one use each of the following polymers :

(i) PVC

(ii) Teflon

(iii) Nylon-6,6

(i) Explain the role of the following as food additives :

A. BHT

B. Saccharin

(ii) Low level of noradrenaline is the cause of depression.

needed to cure this problem ? Give one example'

/
9#stions 30 to 40 carries 4 scores each.

eilr> ExPlain the following terms :

(1)

\\hat type of drugs are

(2)

(11x4=44)

(3)

(1)

(2)

protein. The

x 104 atm.

(2)

A. SchottkY defect.

B. Frenkel defect

C. F-centre.

(ii) Which of the following show both Schottky and Frenkel defect ?

(A) KCi

(C)' AgBr

(B) AgCt

(D) NaBr

What are colligative ProPerties ?

(ii) 400 cm3 of an aqueous solution of a protein contain 1.26 g of .the

osmotic pressure of such solution at 300K is found to be 2.57

Calculat'e molar mass of protein. (R = 0.0821 L atmK-l mol-l)

32.r (i) Explain the construction and working of H, - O, fuel cell'

(ii) Write two methods to prevent corrosion of metals'

(3)

(l)

(2)

(1)

33-".,(i)

(ii)

(iii)

sY-225

Write Arrhenius equation,

The rate of a reaction doubles when the temperature is increased

308K. Calculate the activation energy.

Give two differences between order and molecularity'

(1)

from 298K to

(i)

10



-2JloJos oecsl.ro'irolaoScm c"-i cgiroaoragJos G0cG6rDCO00]o
rJ)eJ(D]6 :

(i) PVC
(ii) oso.o"cgc6nE

(iii) oocncetccna-6, 6

:9. (i) ar3otos mo8oloiolooJcm 
"ur:c6oroonr.r8 eaolS

QcQ<roJo "$cro-?
A. BHT
B. m)doccro8

6JCG@C QoJG@Ccnollo

o oglagiloS co_L6oer3cm.noni

(11x4=44)

(3)

(1)

(t)

(2)

(1)

P.T.O.

:

(l)

(2\

(ii) socdloonil'loE Gmcd onlaolmceJloo! a]ooi o]l.,srcococulorcflcrr 6co6rDac6lon,..gl<u'i ojlrEccoanol0g ao",sj(l)0c6rD- pc cnojouo ojlo,l0.rulacoa
po_r coorcvf eoymroi r n oJ g BCoO(05rDo o0eJ@]6.

30 a;oro8 40 oooooggg corcoJdoRoaeel-4 ccpc6 o.lkoro.
30. (i) ol]oros oacs}anofolooScmot ojlcorjlooldoJo :

A. c.'ejco!"e,lm$mc..)

B. o(ooer68 m$cn(o

C. F-omro!<d

(ii) oxrrrloleerScmorojloE c.,sicaD-e,l cn5Jmo',co)Jo o(oos$,6g mJJcn{o,,aCIJo *r**,r* 
t"

ffiJoQOJdO)o 
"fJt6i?

(A) KC/
, (C) AgBr

(B) AgCt
(D) NaBr (l)

31. (i) cecg[c<nsloicn;emonod.,gcmcoaco-?
. (2)(ii) 1'26 g c1"'-rc$o0 <orosanlcor seila aceoorioor]os cuJcgJo 400 cm3 @rofi"D-. 300K d

poelccotcriloo]os oL5ro)1ot5catm zdy 2.57 x lOa atm orgeml c1o.rc$crlloof,
cacgc6ocm-r"oem6oc€ola. 1R:0.0g21 L atmK-rmol-l) . e)

32' (i) Hz- oz.'cgolcB oauglooi cn16m1<o'r1co.rgo (orord<orooorJo o-fluor5looldoJe.
( i i ) c er coocDccroo)o (DSa') c n,J@ @dne- a c 6 gn,,<.d cn1 6 c gcrol aerJa.

33. (i) oodlcrilqom)-ouooJceJoo0)e]oJe.

(ii) rorc.urrjleL 29gK 6g crilcm;o
ocmtlototdotncnoro"rioo! cnloao"
66I.D@OC@OJA.

ac6ru.lo3o c a cgilago co1 
91 

co;" ol m1 eL3gg @6rre- or JrorJcffD@.8(6 rr61eJo.r]6.

308K Gqaol oLdelloogccrucoa
po$coco3cm;. pconDaccncdepso

11

(iii)

-r)<



34' 'U) What are lyophilic and lyophobic sols ? Give one example for each type.

(ii) Explain the different rypes of emulsions.

35-;,/ (i) Explain the steps involved in the leaching of Bauxite ore.

(ii) what is the role of cryolite in the extraction of Aluminium ?

36., (i) Give the preparation and structure of XeFr.

(ii) Which of the following does not exist :

(A) Xe OFo

(C) Xe o,

(iii) Why IC/ is more reactive than I, ?

(i) Give two differences between Syl and Sp2 reactions.

(ii) Arrange 1-chloropropane, 2-chloropropane and l-chlorobutane
order of their boiling points.

(iii) Give one use of chloroform.

(2)

(2)

(3)

(1)

(2)

(B) Xe Fo

(D) Ne F, (t)

(1)

6\
'Q9 ,t, List the various structural isomerism possible for co-ordination compounds.

(ii) [Fe(HrO)u]3+ is strongly paramagneric wherem [Fe(CN)u]3- is weakly
paramagnetic. Explain. e)

(2)

38-
(2)

in the increasing

(1)

(t)

39. (i) How will you prepare Benzaldehyde from the followings :

A. Toluene

B. Benzene

C. Benzoyl chloride

(ii) Identify the product obtained when Acetic acid is heated with pror.

(3)

(1)
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35.

(i) ' erca,accD,*re,oeccgcoraDrac. ercao* 0ilcoc<pl 0a,ccgcojrc,.l3ac6
cl€)(nDcofiD(m-eBcoo@em m-rorilOo o_flcror:acOOga. 

e)(ii) oL10L1<r'r @oo of)ar6gosicDJ60g a30i4 0r1cor,oo1eo,a 
(2)

(i) ceruco,?tomtg ooololo€ eAdl"0ri6"uot6orocn.ergoncr6 o_flgoaaceergo. (3)(ii) eooer;olcnlcoonnloop cacoocrrlcgtd.,scororolaf goecorcooergloop .'Leri.gmrcem-? (l)

36. (i) XeF, oo! crjldmcemalJo oerscnao{o of,)eJro.lJ6.

(ii) ,JJO,OS Orrrfl ol0er3cmoroio6 cn1acnl0geocolo.roi.,6roi 
:

(A) Xe oFo (B) Xe Fo

(C) Xe o, (D) Ne F,

(2)

(1)

(l)
(iii) IC/ oo! co,'lqCIc.,olerror I, oo! <olccneocc^ e,s3roog Groor-. ecoernoocro-?

37. (i) eorGUoGaolcao oDoa0{oro@Rgloer ol5colJoA} o€.rscDc oogcm)coacjlmro.no6
"CIo{o.tScocem"?

(2)(ii) [Fe(Hro)u]3+ coerolo,slo raocn,ecoolo, GrgcaDccrDJo [Fe(cN)u]3 - cnan,l
6,O6nnCI oncn,*cmrl& (.rdcaCIcflrJo Gng*lcml. 6c@5r,o oJr<rcoac,,r,0. (2)

(i) Sl.1l, shi2 0cm.l10ro:6ronrrcnonc6 rirraalerlg @5r=-orj.,Jcmroncra o0,)eJ.,r6. (2)(ii) 1-cgccocol.'-rco.r-rcor-o6, 2-cgccocol"r_rco.r-ror-o6, l -agccocenrgcSoorh6 pori,o,<'igcnler o;sloro;cm geoo,orinB ",09l.,36. 
-Bn.-v,vvrsJ.v3\!z\ro 

(r)(iii) csccocc.,ocaioo! no; eorceoloc of,)eJ@J6. 
(t)

(i) orloros rocrnloleergcmotojlcf

crildmloerco:

A. cscqcrilod

B. ooatodmJlod

(ii)

cnlcmSo oenroam.lcuacurlooooo.r.l- oo@Bocn

C. oaaroEcmrcorlogcscoooaD-
(3)

onmrgleiorgmror-l-p, o, corr60roio-rrsc6,,,couco0 e,1qcm poE.ucmo o6r(oc6rD- ? (1 )
')'-))<

13
P.T.O.

S



40. (i) Which of the follorving

synthesis ?

(A) cH3NH,, (B) C)'"''
CH; - \H2

secondary and

amine cannot be prepared by Gabriel Phthalin:ride

(1)

(ii)

(c) cHr - cH2 - NH2

Explain the method to distinguish primarl '

write the chemical equations involved'

.l

tertiary amines. Also

(3)

sY-225 t4



-!rr' (i) oiJoJos torcrrlloleer;(molaord ul(6u1caDo8 tolceilooatu)- ouoc{Sn*crDo oJdl
crfldm'leer;ocoE odloo;ccnD cndloA o{Joc6rn-? (l)

(A) CH3NH2 (B) e)'*"
- NHz

(c) cH, - cH2 - NH2 (D)

(ii) 1o-tctoo1a,, oioflor, corltoflccu ondlmSeog cord<ololoJcllcor3cm ao] acdcgo
oJlcrcoacoo]a. ocou mraorcoJoReJo ogeJorlo. (3)

d
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SECOND YEAR HIGHER SECONDARY EXAMINATION APRIL 2021 

SUBJECT: CHEMISTRY Qn. Code: SY 225 

Qn. 
No. 

Sub 
qns. 

Answer Key/Value Points 
Scor

e 
To
tal 

Answer questions from 1 to 11. Each carries 2 scores. 

1. (i) (A) NaCl 1 
2 

(ii) 
Like liquids, glass has a tendency to flow / since it is an amorphous solid/ in glass, the 
particles have only short range order. 

1 

2. (i) 12 1 
2 

(ii) Total no. of voids = 3N mol or 3N x 6.022 x 1023 voids 1 

3. 

2 2 

4. (i) 38% H2SO4 solution or Sulphuric acid solution 1 
2 

(ii)  Dry cell/Mercury cell/button cell [Any one example required] 1 

5. If the order of a reaction is zero, it is called zero order reaction. 
Or, it is the reaction in which the rate of the reaction is independent of the 
concentration of the reactants. Or, Example for zero order reaction. 
For a zero order reaction, the unit of rate constant is mol/L/s or mol L-1 s-1. 

1 

1 

2 

6. A. Homogeneous catalysis 1 
2 

B. Heterogeneous catalysis 1 

7. (i) (D) Zinc blende 1 
2 

(ii) Distillation 1 

8. (i) HNO3/Nitric acid 1 
2 

(ii) Ostwald’s process 1 

9. (i) PCl3 reacts with moisture and form HCl gas/ due to the formation of hydrogen 
chloride gas.  
Or, the equation PCl3 + 3H2O  → H3PO3 + 3HCl 

1 

2 (ii) Since in PCl5, the axial bond length is greater than the equatorial bond length/ 
due to its unsymmetrical structure/due to the greater repulsion between axial 
bond pairs and equatorial bond pairs/due to its trigonal bipyramidal structure. 
[Any one reason] 

1 

10. (i) Potassiumtetrahydroxidozincate(II) 1 
2 

(ii) Magnesium (Mg) 1 

11. (i) CH3-CH2-Cl/ Chloroethane/ Ethyl chloride 1 
2 

(ii) CH3-CHI-CH3/ 2-Iodopropane/ Isopropyl iodide 1 



Questions 12 to 29 carry 3 scores each. 

12. A unit cell is the smallest portion of a crystal lattice which, when repeated in three 
dimension to generate an entire lattice. Or, it is the building block of a crystal. 
Number of atoms present per unit cell  
bcc: Here the particles are present at the corners of the cube and also one atom at 
the body centre.  
The number of atoms at the corner = 8 × 1/8 = 1 
The number of atoms at the body-centre = 1 
Therefore, total number of atoms in the unit cell = 1+1 = 2 
Fcc: Here the atoms are present at the corners and also at the centre of each faces. 
Number of corner atoms = 8×1/8 = 1 
Number of face-centre atoms = 6×1/2 = 3 
Therefore, total number of atoms = 1+3 = 4 

1 

1 

1 

3 

13. (i) 
(ii) 

Ferromagnetic substances 
Alignment of magnetic moments in a ferromagnetic substance: 

Alignment of magnetic moments in a ferrimagnetic substance: 

1 

1 

1 

3 

14. Henry’s law states that at a constant temperature, the solubility of a gas in a liquid is 
directly proportional to the pressure of the gas. 
 Or, the partial pressure of a gas in vapour phase is proportional to the mole fraction 
of the gas in the solution. 
Or, its mathematical form: p = KH x (where p is the partial pressure of the gas, KH is 
the Henry’s law constant and x Is the mole fraction of the gas in the solution). 
Applications: Preparation of soda water, a condition known as Bends in Scuba divers, 
a medical condition known as Anoxia in people living at high altitudes. (Any 2 
applications required) 

1 

2 

3 

15. (i) 

(ii) 

Ecell = E0
cell –  2.303RT log [Zn2+]

 2F  [Cu2+] 
OR, 
Ecell = E0

cell –  0.0591  log [Zn2+]   (at 298 K)
 2  [Cu2+] 

Conductivity and molar conductivity are related as: λm = 1000 ƙ/M 
Here ƙ = 0.0248 S cm-1 and molarity, M = 0.2 M 
So λm = 1000 x 0.0248/0.2 = 124 S cm2 mol-1 

1 

1 

1 

3 

16. (i) 
(ii) 

(iii) 

I is strong electrolyte and II is weak electrolyte. 
λ0m indicates the limiting molar conductivity or molar conductivity at zero 
concentration. 
By using Kohlrausch’s law 

1 
1 

1 

3 

17. (i) PTotal = PA
0 + (PB

0 – PA
0)xB 

Here PA
0 = 400 mm of Hg, PB

0 = 600 mm of Hg and xB = 0.4
So, PTotal = 400 + (600 – 400) x 0.4 = 480 mm of Hg 

OR 
Since xB = 0.4, xA = 1 – xB = 1 – 0.4 = 0.6 
PA = P0

A.xA = 400 x 0.6 = 240 mm of Hg

2 

3 



(ii) 

PB = P0
B.xB = 600 x 0.4 = 240 mm of Hg

PTotal = PA + PB = 240 + 240 = 480 mm of Hg 
(B) ∆Hmix = 0 1 

18. (i) 

(ii) 

Half life period is the time taken for half of a reaction to complete. Or, it is the time 
taken for the concentration of a reactant is reduced to half of its initial concentration. 
For a first order reaction, the integrated rate law equation is k = 2.303 log[R]0 (1) 

 t  [R] 
When t = t1/2, [R] = [R]0/2 
Substitute these values in the above equation, we get 
k = 2.303 log[R]0 

       t1/2         [R]0/2 
Or,  t1/2 = 2.303 log2 =  2.303 x 0.3010 

 k  k 
Or,  t1/2 = 0.693 

   k 

1 

2 

3 

19. (i) 

(ii) 

In chemisorption, the force of attraction between adsorbent and adsorbate is 
chemical bond. It is irreversible, highly specific, very high heat of adsorption, only 
unimolecular layer of adsorption occurs, its rate increases with increase in 
temperature etc. (Only 2 characteristics required).  
Due to the greater surface area of finely divided substances/as the surface area 
increases, extend of adsorption also increases. 

2 

1 

3 

20. (i) 

(ii) 

(iii) 

In calcination, the ore is heated in the absence or limited supply of air but in roasting, 
the ore is heated in presence of excess of air.  
Pig iron is the iron obtained from blast furnace. It contains about 4% C and smaller 
amounts of impurities. While wrought iron is the purest form of commercial iron. 
The metallic compounds present in the earth crust are called minerals. A mineral 
from which a metal can be extracted conveniently and profitably is called ore. 

1 

1 

1 

3 

21. (i) 
(ii) 

Chromite ore/ FeCr2O4 

First sodium chromate is acidified with sulphuric acid to produce sodium dichromate. 
2Na2CrO4 + 2 H+ → Na2Cr2O7 + 2 Na+ + H2O

 Then the solution of sodium dichromate is treated with potassium chloride so that 
orange crystals of potassium dichromate crystallise out.  

Na2Cr2O7 + 2 KCl → K2Cr2O7 + 2 NaCl 
[Either explanation or equation is required]     (1 Score for each step) 

1 

2 
3 

22. (i) 

(ii) 

A) Due to lanthanoid contraction/lanthanide contraction.
B) This is due to their large surface area and their ability to show variable

oxidation state.
The electronic configuration of M2+ (Z = 27) is [Ar]3d7 
So the no. of unpaired electrons = 3 
Spin only magnetic moment, µs = √n(n+2) = √3(3+2) = √15 = 3.87 BM 

1 

1 

1 

3 

23. (i) Reimer-Tiemann Reaction: Phenol when treated with chloroform in the presence of 
NaOH, followed by acidification, we get salicylaldehyde (o-hydroxybenzaldehyde). 

Or, the equation: 

1½ 

3 



 
 
 
 

(ii) 
 

Williamson’s synthesis: Alkyl halide reacts with sodium alkoxide to form ether. This 
reaction is called Williamson’s ether synthesis. 

R-X + R’-ONa → R-O-R’ + NaX  Or, any correct example 
 

 
 
 
 

1½ 

24. (i) 
 
 
 
 
 

(ii) 

A. Propene reacts with water in the presence of acid as catalyst to form propan-2-ol. 
Or the equation: 
CH3-CH=CH2 + H2O    H+      CH3-CH(OH)-CH3 

B. Ethanal when reduced using lithium aluminium hydride (LiAlH4) or sodium 
borohydride (NaBH4) or on catalytic hydrogenation, we get ethanol. 

CH3-CHO + [H]  LiAlH4      CH3-CH2OH 
Zymase  

1 
 
 

1 
 
 

1 

3 

25. (i) 
(ii) 

 
 

(A) Tollens’ test 
CH3-CHO 
C6H5-CHO (Benzaldehyde) is less reactive because of the less electrophilicity of the 
carbonyl carbon due to resonance. Or, the polarity of the carbonyl carbon in C6H5-CHO 
is less/due to the presence of bulky phenyl group (steric hindrance). 

1 
1 
 

1 
 

3 

26. (i) 
 
 

(ii) 

       Methanol and potassium formate 
Or, the equation:  2 HCHO    Conc. KOH     CH3-OH  + H-COOK    
This reaction is known as Cannizzaro reaction. 

    3-hydroxybutanal (β-hydroxybutyraldehyde) and but-2-enal (crotanaldehyde) 
Or, the equation: 

2CH3-CHO  dil. NaOH      CH3-CH(OH)-CH2-CHO     ∆       CH3-CH=CH-CHO 
Ethanal  3-Hydroxybutanal         But-2-enal  

This reaction is known as Aldol reaction (Aldol condensation reaction).                            

 
 

1½ 
 
 

1½ 

3 

27. (i) 
 

(ii) 
 

(iii) 

 Monosaccharides: Ribose, Fructose 
Disaccharides: Maltose, Sucrose 
Starch is the storage polysaccharide of plants while glycogen is the storage 
polysaccharide of animals. 
Insulin and glucagon 

1 
 

1 
 

1 

3 

28. (i) 
 

(ii) 
 

(iii) 

Vinyl chloride/Chloroethene/CH2=CHCl. PVC is used for making pipes, rain coats, hand 
bags, vinyl flooring etc. [Any one use is required] 
Tetrafluoroethene (CF2=CF2). Teflon is used for making oil seals, gaskets and non-sticky 
cooking pans. [Any one use is required] 
Adipic acid and hexamethylene diamine. Nylon 6,6 is used for making sheets, bristles 
for brushes and in textile industry. [Any one use is required] 

1 
 

1 
 

1 

3 

29. (i) 
 

(ii) 

A.  BHT (Butylated hydroxytoluene) is used as an antioxidant in food. 
B.  Saccharin is used as an artificial sweetener in food. 
Antidepressant drugs/Tranquilizers. 
E.g. Iproniazid, phenelzine, chlordiazepoxide, meprobamate, equanil etc.  
[Any one example is required] 
 

1 
 
 

2 
3 



Questions 30 to 40 carry 4 scores each. 

30. (i) 
 
 
 
 

(ii) 

A. Schottky defect: It is the stoichiometric defect arising due to the missing of equal 
no. of anions and cations from the lattice site. 
B.  Frenkel defect: It is the stoichiometric defect arising due to the shifting of a cation 
from the lattice site to the interstitial site. 
C.  f-centres: These are the electrons occupied at the anion vacancies or lattice sites. 
(C) AgBr 

1 
 

1 
 

1 
1 

 
 

4 

31. (i) 
 

(ii) 

Colligative properties are the properties which depend only on the number of solute 
particles and not on their nature. 
Molarmass (M2) = w2RT 

                          π V    
Here w2 = 1.26 g, V = 400 cm3 = 0.4 L, T = 300 K, π = 2.57 x 10-4 atm and  
R = 0.0821 Latm K-1mol-1. 
 So,  M2 = 1.26 x 0.0821 x 300 =  30.19 x 104 atm 
            2.57 x 10-4 x 0.4 

2 
 
 
 

2 
4 

32. (i) 
 
 
 
 
 
 
 
 
 
 
 
 
 

(ii) 

In H2 – O2 fuel cells, hydrogen and oxygen gases are bubbled through porous carbon 
electrodes into concentrated aqueous sodium hydroxide solution. Catalysts like finely 
divided platinum or palladium metal are filled in the electrodes. Or, the Diagram: 

                                  
The electrode reactions are:  

Cathode:  O2(g) + 2H2O(l ) + 4e–→4OH–(aq) 
Anode:  2H2 (g) + 4OH–(aq) → 4H2O(l) + 4e– 
Overall reaction is:  2H2(g) + O2(g) ⎯→ 2 H2O(l) 

The  methods to prevent corrosion of metals are:  
a) By giving a non-metallic coating on the metal surface with paint, varnish etc. 
b) By coating the metal surface with electropositive metal like zinc, magnesium etc.  
c) By coating with anti-rust solution. 

       d) By connecting the metal with a sacrificial electrode of another metal (like Mg, 
Zn, etc.) which corrodes itself but saves the iron object (sacrificial protection).           
[Any 2 methods required] 

 
 
 
 
 

3 
 
 
 
 
 
 
 
 
 
 

2 

4 

33. (i) 
 

(ii) 
 
 
 
 
 
 
 
 

The Arrhenius equation is k = A.e-Ea/RT 

Or, logk = logA – Ea/2.303RT 
We know that,      log k2/k1 =       Ea       [T2 - T1] 
                                                      2.303 R    T1.T2 

Here T1 = 298 K, T2 = 308 K, and R = 8.314 J K-1 mol-1 

Suppose k1 = x, then k2 = 2x 
Then, 
    log 2x               =             Ea             [308 – 298] 
            x                     2.303 x 8.314     298 x 308 
  Ea = 0.3010 x 2.303 x 8.314 x 298 x 308  = 52897.78 J mol-1  
                                        10 

1 
 
 
 
 
 

2 
 
 
 
 

4 



(iii) 
 

Order Molecularity 

It is the sum of the powers of the 
concentration terms in the rate law 
expression 

It is the total number of reactant species 
collide simultaneously in a chemical 
reaction 

It is an experimental quantity It is a theoretical quantity 

It can be zero or fractional It cannot be zero or fractional 

                                                                                 (Any 2 required) 

 
 

1 

34. (i) 
 
 
 
 
 

(ii) 

In lyophilic sols, the force of attraction between dispersed phase and dispersion 
medium is strong. E.g. Starch solution, gum, gelatin, starch, rubber etc in suitable 
dispersion medium. 
But in lyophobic sols, the force of attraction between dispersed phase and dispersion 
medium is weak. e.g. Arsenic sulphide (As2S3) sol, sulpher sol and metal sols like gold 
sol, silver sol etc. 
Emulsions are of two types: 

I) Oil in water (O/W) type and  
II) Water in oil (W/O) type 

In oil in water type emulsion, oil is the dispersed phase and water is the dispersion 
medium.  
E.g. milk.  
In water in oil type emulsion, water is the dispersed phase and oil is the dispersion 
medium. 
E.g. butter and cream 

 
 

2 
 
 
 
 
 
 
 

2 

4 

35. (i) 
 
 
 
 
 
 
 
 
 
 
 

(ii) 

Leaching of alumina from Bauxite: Here the powdered ore is treated with a 
concentrated solution of NaOH at 473 – 523 K and 35 – 36 bar pressure. Alumina 
(Al2O3) dissolves in NaOH to form sodium aluminate [2Na[Al(OH)4] leaving behind the 
impurities.  

Al2O3 (s) + 2NaOH(aq) + 3H2O(l) → 2Na*Al(OH)4](aq) 
The aluminate in solution is neutralised by passing CO2 gas and hydrated Al2O3 

is precipitated. The solution is seeded with freshly prepared hydrated Al2O3 which 
induces the precipitation. 

2Na[Al(OH)4](aq) + CO2(g) → Al2O3.xH2O(s) + 2NaHCO3 (aq) 
The hydrated alumina is filtered, dried and heated to give back pure alumina (Al2O3). 

Al2O3.xH2O(s)    1470 K        Al2O3 (s) + xH2O(g) 
[Either explanation or equation is required] 
Cryolite is added to lower the melting point of alumina and to increase the 
conductivity. 

 
 
 
 
 

3 
 
 
 
 
 
 

1 

4 

36. (i) 
 
 
 
 
 
 
 

(ii) 
(iii) 

 

Excess amount of Xe reacts with F2 at about 673 K and 1 bar pressure to produce XeF2. 
Or, The equation:  Xe (g) + F2 (g)     673K, 1 bar XeF2(s) 
                  (xenon in excess) 
Its structure is linear as follows: 

                                                      
(D) NeF2 

This is because the bond length in ICl is greater than that in I2 /the bond length in inter 
halogen compounds are greater than that in halogens. 

 
1 
 
 
 

1 
 
 

1 
 

1 

4 



37. (i) 
 
 
 
 

(ii) 

The different types of structural isomerism shown by co-ordination compounds are: 
1. Ionisation isomerism 
2. Linkage isomerism 
3. Solvate or hydrate isomerism 
4. Co-ordination isomerism 

This is because [Fe(H2O)6]3+ is an outer orbital complex while [Fe(CN)6]3- is an inner 
orbital complex/ H2O is a weak field ligand and hence electron pairing does not occur 
while CN- is a strong field ligand and hence electron pairing occurs/ due to greater 
number of unpaired electrons in [Fe(H2O)6]3+ than that in [Fe(CN)6]3-. 

 
 

2 
 
 
 

2 

4 

38.  (i) 
 
 
 
 
 
 
 
 
 

(ii) 
(iii) 

SN1 Reaction SN2 Reaction 

Proceeds in 2 steps Proceeds in a single step 

An intermediate (carbocation) is formed No intermediate is formed 

Order of the reaction is 1 Order is 2 

For optically active compounds, the 
reaction proceeds through retention of 
configuration. 

For optically active compounds, the 
reaction proceeds through inversion of 
configuration. 

The order of reactivity of alkyl halide is 
30 > 20 > 10 

The order of reactivity of alkyl halide is 
10 > 20 > 30 

                                                                                                [Any 2 differences are required] 
2-chloropropane < 1-chloropropane < 1-chlorobutane 
Chloroform is used as a solvent, for the production of freon refrigerant, as an 
anaesthetic. [Any 1 use is required] 

 
 
 

2 
 
 
 
 
 
 

1 
1 

4 

39.  (i) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(ii) 

A.  Toluene when oxidised by using chromyl chloride (CrO2Cl2) in CS2 followed by 
acidification, we get benzaldehyde. The reaction is known as Etards reaction. 
Or the equation: 

 
C. B. When benzene is treated with carbon monoxide and hydrogen chloride in the 

presence of anhydrous aluminium chloride or cuprous chloride, we get benzaldehyde. 
This reaction is known as Gatterman-Koch reaction. 
Or the equation: 

                      
C. Benzoyl chloride react with hydrogen in presence of Pd supported on BaSO4, we 
get aldehydes. This reaction is called Rosenmund’s reduction. 
Or the equation: 

              
Ethanoic anhydride or acetic anhydride or (CH3-CO)2O 
 

 
 
 

1 
 
 
 
 
 
 
 

1 
 
 
 
 
 
 

1 
 
 
 

1 

4 



40. (i) 
 
 
 
 

(ii) 

(B)                      NH2 
 
 
 
 

The three types of amines are distinguished by Hinsberg test. Hinsberg’s reagent is 
Benzenesulphonyl chloride (C6H5SO2Cl).  
a) Primary amines react with benzenesulphonyl chloride (Hinsberg’s reagent) to 

form a precipitate which is soluble in alkali.  

       
Benzene sulphonylchloride    ethanamine  N-ethylbenzenesulphonamide 

b) Secondary amines react with benzene sulphonyl chloride (Hinsberg’s reagent) 
to give a precipitate, which is insoluble in alkali. 

 
Benzene sulphonylchloride  N-ethylethanamine N,N-diethylbenzenesulphonamide 
 

c) Tertiary amines do not react with benzenesulphonyl chloride (Hinsberg’s 
reagent).  
 
%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%  

 
1 
 
 
 
 
 
 
 
 
 
 

3 4 
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